,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

NEYYAR APP@

AAAAAAA

DEGREE LEVEI.
PRELIMINARY
EXAM




101/22 - M

1. Goods and Services Tax (GST) came into force in India on
A) 1% April 2017 B) 1July 2017 C) 1" April 2015 D) 1% July 2015

2. Consider the following statements :
i) RBI has the monopoly power of issue of notes and coins of all denominations in India
ii) RBI keeps and manages the foreign exchange reserves of India.
iii) Open market operations are conducted by RBI via the sale and purchase of
government securities.
iv) During inflation, RBI reduce the Cash Reserve Ratio.
Which of the above statements is/are correct ?

A) Only i), ii_)_and V) B) Only ii), iii) and iv)
C) Only ii), iii) D) Only i), iv)
3. Which of the following is the single largest item of public expenditure in India ?
A) Interest Payments B) Salary and Pension
C) Defence Expenditure D) Expenditure on Social Services

4. Consider the following statements :

i) Direct taxes are those taxes in which impact is on one person and
incidence on the other person.

i) Indirect taxes are those taxes in which impact and incidence are on the
same person.

iii) The burden of indirect taxes can be shifted.

Select the correct statements.

A) Only i), ii) B) Only iii)

C) Only i) and iii) D) Neither ii) nor iii)

5. Which Five Year Plan for the first time actually addressed the issue of removal of
poverty as a prime objective ?

A) First Five Year Plan B) Second Five Year Plan

C) Fifth Five Year Plan D) Fourth Five Year Plan
6. The pen name of the Malayalam writer V. V. Ayyappan is

A) Kovoor B) Kovilan C) Kuttetan D) Kuttipuzha
7. The 2018 Asian Games was hosted by

A) Thailand B) Japan C) South Korea D) Indonesia
8. The Malayalam film which won the National Award for Best Feature Film in 2019 ?

A) Bharatham B) Vanaprastham

C) Thanmathra D) Marakkar : Arabikadalinte Simham
9. The 2018 Commonwealth Games venue was

A) Scotland B) Australia C) India D) New Zealand

10. Which writer won the Jnanpith Award in 2007 ?
A) O.N. V. Kurup B) M. T. Vasudevan Nair
C) S. K. Pottekkatt D) Akkitham Achuthan Namboothiri
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™Y @M emaldn ey (efagmidl) agomoen dleld aima?
A) 19 a@al®d 2017 B) 19 sieeei 2017 C) 19 gl 2015 D) 1% =yo0es 2015

0. 8% ®AIESM (IPIAUMSBRD aldlNee)s:.

i) D @od.enll.oag). Geos e I@lo MIEMWETBEIO A BOMTIOSOIMBES EBTB:0
QAUBOW0 HERM. )

i) LmI@es Aflearrmoem® cueMo ME:HBaEBWI0 HOB:E:I0I0 6.2IQREWL0 H.2IQRIME
@d. enfl. Ong). @OEM.

iii) 846 @odLOHIOR ((ICLdBMMENRD @BD. 0. Hag). H-2IGBMG NAUOMT HVBREH]
SR6S Allgmeio Ao ME6UMWIEN.

V) MIEMiOal@iao HENBIBREMIIRD @d. Nl £ag). B J0ad dlemudal 60caH 0 #y0seMy.

&SRO aQO®IODS (alagoalmdgem wd ? ‘

A) i, ii §o iv @o@o B) ii, iii o IV @o@o

C) ii, i @o@o D) i, iv @o(®o

969 DS ETAeNMAU® agmoen rdeeod alomy fleiajesla 8qes aggalo
el ?

A) alellvs @rsays:d B) womugajo ealidayitio

C) uaflemow aflaiayed D) avomyadiles smaim@imowias o leiaywecd

@6 ®AIElBHM (alqPIUMED aldluenileaiss. )
i) WO Mled agymoad, snauods e aljesialeye edmiawadm angoe aljsmialeyo
@D® fless)wil@osn.
) aemos eyl (mawwosg) ag)modd smiodge sadmilavmave &) o jenilold
@RS (fl)afl@oem.
i) aJemods 0fley@l@es @oro HOBBORo H.IGOARM@OE.
B (aIPOUMEBRB TloOeTHSIB6)E:.

A) i, ii @o@o B) iii @o(@o C) i, iii @o@o D) i 9o i 9o @wgy
AR aleRIQIENO alavailwon @aimf codle ) fld2odERMo (aIWOM Lld:§mow mulexdl.olm ?
A) 80mMoo alerIQIBE alaL® B) om0 atemiqi@o alavwi
C) @remido ale@iaiEno altawf D) moeio ale@icuane alavai
28/@80 ag)FEmIE00mMo all. all. @eglale@ @myelle:omono.
A) s@oayd B) es0afleid C) ®#yesgm D) #ydlape
2018 &2l agau | enGlomilay’ eaaflelnomo Qlad]2)® ag@ @oggj@moem ?
A) mowiaiada B) =aqjod C) mvoem esodlw D) EDEMOGMa |
2019-a aggayo Mgy 2 lelafi@@mlnes 6auflw alompoce emEw aeiwog 2lelgfime o@®em ?
A) como B) aiomiaimno
C) maom D) aoenod : @posnflensela mioano
2018-621 d0m6MeAIBE ONGlom Msm quasio agmoen ?
A) sapogeiod B) amemyeiw C) ey D) mymilenad
2007-a memomalioo @ADL BMEIW ag) @B @RooE ?
A) & agyd. afl. o] B) ag)o. 9. arvayeanid mowd
C) aga. o, Oatogee0s D) @rssiomo @o.aiymmd mmysid
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Who among the following was not in the Drafting Committee of Indian Consntutlon

A) Jawaharlal Nehru B) Alladi Krishnaswamy yer
C) B. L. Mitter D) K. M. Munshi

By which Amendment of the Constitution, Art. 300A was introduced ?
A) 42 Amendment B) 44" Amendment
C) 64" Amendment D) 73 Amendment

Which among the following is not an implication of financial emergency ?
A) Reduction of salaries and allowances
B) Financial bills will be reserved for the consideration of President

C) Reduction of salaries of Judges
D) Abolition of the post of Finance Minister in States

Which among the following is not a func'tion of Finance Commission of India ?
A) To recommend the President of India on distribution between the Union and

States of the net tax revenues.
B) To recommend the President of India on the principles which should goverm the

grants-in-aid of the revenues of the States.
C) To recommend the President of India on the measures to present State
D) To recommend the President of India on the measures needed to increase the

Consolidated Fund of a State.

Which among the following terms was not included in the Preamble enacted on 1949 ?
A) Sovereign B) Secular C) Democratic D) Republic

finance bills.

A thief is running away on a straight road with a speed of 8 ms'. A policeman chases
him in a jeep moving at a speed of 10 ms™". If the instantaneous separation of the
jeep from the motorcycle is 50 m, how long will it take for the policeman to catch the
thief ?
A) 25s B) 20s C) 50s D) 30s

A tea merchant blends two varieties of tea in the ratio of 5 : 4. The cost of first variety
is Rs. 200 per kg and that of second variety is Rs. 300 per kg. She sells the blended
tea at the rate of Rs.250 per kg. Find out the percentage of her profit or loss.

A) 2.27% loss B) 2.27% profit C) 5.14% loss D) 5.14% profit

The length and breadth of the floor of a room are 7.5 m and 2 m, respectively. Forty
tiles, each with area 1——m‘°' are used to cover the floor partially. Find the ratio of the
tiled and the non-tiled portion of the floor.

A) 10:1 B) 1:10 C) &:1 D) 1:5
The average marks of boys in a class is 62 and that of girls is 52. The average marks
of boys and girls combined is 60. The percentage of boys marks in the class is

) B8 B) 50 C) 60 D) 40
s
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069 05T AlOMAUABIA @D soam | BOEMERISMWOS ((Waadglovy drargload
sl ?

A) a0 HmMany B) mggoél Erjademaupad] @ngyd

C) all. ag)ad. dlgd D) . ag)0- Basl
REAMEISM@OS ag® aran@namuy arlwoas apdglesicd 300A ewsoms; almai?
A) 42" @oeageamay B) 44" mamcﬁamn%mi

C) 64" moea@ondau D) 73 @ea@nama

M8 @RL@TRINMOWLES (@ eanmo @EROD® aR® ?

A) oruseriiego agy @OMiBel\meslelo 88 @00k

B) momiarsfles enfleydsd eoadaiafleyes @pmyaafeeo9l 236 ©QIe6qS)0
C) mP@aUlalees RO 688 eyoal

D) momuaomemsllen wmd:on) aOwlaoees aloge ofldl.ag allsaqysio

©06¢ LIOWIMAIIE RS EOMIES WNE:0y HABNAUER Sddaidufwid UG ?
A) omOOmeTBRE0 Er(Ts MB@nIBIme sswi afledl aiRaamo aflalleanma
MoenIauila] ey oI Ble@os (yalodwd 621G 3
B) momnomemsyes aleaommsias mabedsensym 2oB M agiad afldemaiendimes
OODETRD DM MolaUai@s) (o3 todd MBBLYL:-
C) momuomessgins Momicmie enligyed aaiodlaflendmd as dlaile:@d eammd
MY l@fles) (o3alodUd M. 5
D) momnomenaes ageleym momicmies aflul (ssmemogleabgay anes) sygalomes
@68 Sycl.a) 00m D @olaYa imfles) (3alodd MTaie:.

1949 @ ayeomog 60l ApmaIETHE ey MoLa® aR®me ?
A) cmoaieen B) emsseid C) ewead@ddles D) dlojepfles

8 ms™' @t &) S88M B cMdeoaIO Hag cnonla 69530}, 8} Galdellysoem10 ms™
@ Gatoeym ol easem allamsaymy. oo dldaueoicd Hallmie saosgod aemssis
mio siad pag Bieo S0 algd eoesmEl®, ag)® cMeoe 6BENE Galoellmyenm B:aaem
aflslenyo ?

A) 25s B) 20s C) 50s D) 30s

80) colal &2jsHnId remlmo ecoafale:d 5 : 4 @mialomasid cozdlafloy. @Gy
fimo emafleigs) #sleaioss 200 aaiwle ossonarmaimerniin’ eleaoss 300 ojaiwio
aflaoem. emaflal ewozdall oo alldenmal #leeinss 250 maigoem. ag@ld eosr
HPEWI MaYATOREWI LDOBMBIMO BEMBNIBENE>.

A) 2.27% mayo B) 2.27% en&o C) 5.14% mago D) 5.14% eneo

1
an, pdleyes moes algale aflaflee wnowas 7.5 digoye 2 digole @den. 6 algd

b 988 40 ees@dm palewoull.ef @0 oulle:aowl yigl. aasmim esmio MEPEHMEBOD
@MOWOS @MAII®o ag) (@@ ?

A) 10:1 B) 1:10 C) 5:1 D) 1:5

80 KIploa eomde)sleans woond mdes 62 go ealmeigleaes axdes 52 oo
@M. EYENMDBIS|BAOSDY0 HalemdySle-aies@io @dl wadwnd mdes 60 Epesm®IT
@ oMb @REMDBISIBWBHE ag)(® LMDIMo BIDLS) Hene ?
A) 80 B) 50 C) 60 D) 40

-5-
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20. i :c;);n?nn and 6 n?ep ca.n together finish an embroidery work in 5 days: while 4 vzon"e‘f::

I en can finish it in 4 days. The number of days taken by 1 woman al

finish the work and also that taken by 1 man alone are respectively

A) 20 and 40 B) 40 and 20 C) 60 and 30 D) 30 and 60
21. Global warming can be controlled by

A) Increasing deforestation, reducing efficiency of energy usage

B) Reducing deforestation, increasing the use of fossil fuel _

C) Increasing deforestation, slowing down the growth of human POpUIat'On

D) Reducing deforestation, cutting down use of fossil fuel

policy (ST is

22.

23.

24.

25.

26.

er.

The main policy goal for The new Science, Technology and Innovation
A) SRISHTI is the main policy goal to led path for india

B) To translate this action into vision
C) A dedicated Policy Research Cell is yet to establish

D) All of the above

Which of the following is not trué about Indian Space Research ?

A) The first satellite launched in India was Aryabhatta. Aesearch
B) Great Scientist Dr. Vikram Sarabhai is known as the father of Indian Space -

C) ISRO was set up in 1962.
D) IRSO reports to Department of Space, India.

Name an Umbrella Programme that was launched in 2007 to promote R & D.

A) International S & T cooperation

B) Scientific Excellence
C) Creating and Nurturing S & T Human Resource

D) Nano Science & Technology

REDD Plus Programme is concerned with which of the following ?
A) Millennium Development Goals (MDG)

B) Nuclear Non-proliferation Treaty (NPT)

C) Convention on Biological Diversity (CBD)

D) Earth Summit

In the following battles, which one is not correctly matched ?

A) Battle of Tarain : 1191 B) First Battle of Panipat : 1526
C) Battle of Wandiwash : 1760 D) Battle of Haldighati : 1581
Arrange the following in chronological order.
i) Rowlatt Act iy Poona Pact
iii) Partition of Bengal iv) Lucknow Pact
A) i, i, iv, ii B) iii, ii , iv, i C) i, iii, iv, i D) iii, iv, i, ii
-6-
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20. 3 @Peo0 6 alEUBBIDEOL0 Bye) Gey agoawno@ WA agmoel 5 dlaimo asoem
EEBUIMIB 0. @®YBIORl 4 (Weseyo 7 M&méoaj(mO('bces)&o )9 4 dlaumo adoemd
ARHUIIMIRL0. ag)TO® B (1 Mmo@o aggoel 6 oIgILSO B0} AlBlHUM® B0 B.aiQosyo
ag0e) DB ag)s3enM dlAUtvo Winow:mo

A) 20, 40 B) 40, 20 C) 60, 30 D) 30, 60

21, @poe?8®daimo flawflenninm e 21QPAYTHE
A) 0 Mudlespemo idalla leeu, pode D 18@ONETIN S00IBAD® DLORYE>
B) (M MUS06Mo SYORLS:, HOBAL TN §ale@INO SIS
C) oM Mudleeemo AudAUlaleaie: mmmoa | QubELOAT OBOR A0S
D) (™ MUl06Mo @0R:, SO TN HalewINTTIOR SI0HADD SIORYH,

22, @ WP MIEBAIH> Sr8MOGCLIancd (STI) aglI@OS (IWIM it jo agOmIET' ?
A) DTIWOS BBMOIEN AIBd.oy@es alom eSO ealoglmil ey eidmyo
et (SRISHTI) @pens.
B) 9 Sdaasiom (auemm) H0¥ala o8 (Qflaudd) @@ alBleMmID6Q|SIETD)E:.
C) & MWadafle satoglmil dlavd.f ema pensocsenend@Idienymmy.
D) aBEl@ atoemeldeeyoma ag)gjoo

23. ey ey dlavd o] sodmenmervatem #.a] ®06Y atosmvsfldlenmMaiad maowa agm ?
A) 200 Qllesriafl.of @GS OalIabo EBOYES GDE.
B) 23 ey’ Slaud.aflond 00ed agmdlweae]syme @l IREsmd B
Ao moE©) @rens.
C) 60g). agyav. @dd. &. qundaflgje’ 1962 @ @ren.
D) 60g). @@0. ag)av. 6., gamyid alajodsoadd eoad emymilay dlagods e.21gRmy.

24. wod M@l el sdonoadla lesinnmo 2007 @ ayeanos exue) @osnig) alaul agmoen) ?
A) o@dMIaHeMEd agymy @M S ¢H0dale0aUM
B) m@@ladles ag)geaiadmy
C) g @ <1 momau aflecuerat qypdllyo aldeatontiemayo
D) mosmo m@@mi eod eseemogel]

25. REDD gjm' axaval @6y ato@maid agamaod eumweqsmoen ?
A) diegjaril@o eawaisliefoadd enodm (MDG)
B) mugled emoemd elatoelieaneoaud €d (NPT)
C) erdercumanmd 606 snicwiselend enwswusaid (CBD)

D) agyberss moadiey
26. ®099 exrrildleeym wyavemBsl®@, agmoen A@OW ¢.2l0oEBEY ?

A) sooowfiad @yave : 1191 B) e&mao alomilgje @jave : 1526

C) wosmlauonst @yave : 1760 D) anmdallnog) @yave : 1581
27. ®%9 aI0WLME BILINEMM (18000 ag)AMids. )

.i) Oel @D .u) aym gsmug

i) oo aflegmo V) e psaudl

A) i, i, v, iii B) iii, ii , iv, i C) i, i, iv, ii D) iii, iv, i, ii

B 7-
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28. Correctly match the following.

e, List - Il
i) Regulating Act of 1773
i) Subsidiary Alliance System a) Mayo
. ’ b) Linlithgo

iii) Department of Agriculture and Commerce  ¢) wellesley
iv) August Offer d) Warren Hasting®

A) i—d,ii—aii—civ-b B)i—d,ii—c,iii~ﬂ.i"“
0g. Warsaw Pact came into existence in
A) 1953 B) 1955 C) 1949 D) 1952
30. Match List —1and List — Il
1~ . : List- 1l _
i) Brahmananda Swami Sivayogi a) Adwaita Chinta Paddhati
ii) Sree Narayanaguru b) Acharabhooshanam
iii) Chattampi Swamikal c) Streevidya Poshini

d) Daiva Deshakam
B) i-d,ii—a,ii—b,IV=C

iv) K.P. Karuppan
A) i—c,ii—d,iii—a, iv—Db
C) i-b,ii—-a,li-d,iv-C

In the sequence given below, the number after 34 is

31.
3. 4,7, 7, 13,13,/21,22731,34/%
A) 38 B) 40 C) 43 D) 45
32. Two signs in the below equation have been interchanged, find out the two signs to
make the equation correct.
4:-10x1+5-2=4
A) +and - B) +and + C) x and + D) x and -
33. Sonu starts walking towards South. After walking 25 m, she turns towards North.

After walking 30 m, she turns towards East and walks 20 m. She then tums towards
which direction ?

South and walks 5 m. How far is she from her original position and in

A) 20 m, West B) 20 m, East C) 10 m, West D) 10 m, East
34. Find the number that does not fit into the series.

42, 142, 388, 1252, 5108

A) 5108 B) 1252 C) 388 D) 142

The numbers 12, 3 and 7 on a clock’s face are joined to form a triangle. The three

angles of this triangle are
A) 60, 50, 70 B) 65, 45, 70 C) 50, 85, 45 D) 60, 45,75

35.
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28. ®6¥ alOWMA ¢.2JMioals] G0IRD6)H:.

algle ~ | aigle =l
i) 1773 ea1 eomeaidled eodgy a) @e@o
i) meninilaflod eellwmdm miiggo b) efldtellmiano
iil) Wlajodsendt aoad mlled.d oMW asosadms C) OURIMEN .
V) &0may 8oand d) 0000 sangleEay
A) i—d,ii-a,ii-c,iv-b B) i—d,ii-Cli-aiv-b
C) i-a,ii—d,iii-b,iv-c D) i—a,ii—-bii—div-c
29. andem psmugl aflenlldd cimae?
A) 1953 B) 1955 C) 1949 D) 1952
30. aile: @myo @ensyo G2l s G.oIRH6E:.
algle — | asgle =l
i) (enamoma3 qupdl wiloiewous a) apeea 2l alava
i) @dlmorowem ) b) @p.al@EEJHEMO
iii) 215ml cvpailetd ¢) (afiep Galoadlen
iV) & all. &0 M d) eeea BUE:0
A) i-c,ii—d,ii-a,iv—-b B) i—d, ii—a,iii—b,iv-c
C) i—b,ii—a,ii—-d,iv-c D)i-—a,ii—c,iii—b,iv—d

31. ey mmildlesnm eweroid 34 o' eueato IR @OSHO
3,4,7,7,13,13,21,22, 31, 34, ?

A) 38 B) 40 C) 43 D) 45
32. moey maridlenam macke)miles o@® e} 2flameBd aldMyeo MOFlwodd manioe:jo
woBl@oB:0 ?
4+10x1+5-2=4
A) = and - B) +and + C) xand + D) x and -

33. emomy emEsng) Msenomd mysensl 25 algd msmaiimy etatio USEHNIZ widleny

30 allgd msmaiimy steatto Hslveenos) @idlenmy 20 algd msmy. allomm amesands)

aildlemy 5 algd msmmy. Meajod eavomy myseEle moeiemy dlmio ag)@® AeERileyo

ap® dloeaflepmoey ?

A) 20 digd aglenmod’ B) 20 dlgd @lvesy C) 10digd cudlemmos D) 10 digd slees
34. ®6¥ oB:0s|Efldlenm suremlaicd ¢.oleomm @Rene ag@oe ?

42,142, 388, 1252, 5108

A) 5108 B) 1252 C) 388 D) 142
8} casleonoten 12, 3, 7 eaidam aw (@lasoemo aidailey. e @lescsmanioal

@M BBEMIBD ag)OTHIOLHRENT ?
A) 60, 50, 70 B) 65, 45, 70 C) 50, 85, 45 D) 60, 45, 75

35.
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36. Which among the following i Not a basic objective of creating All India Services ?

i) Maintenance of |aw and order

ii) National unification and nation building

iii) Promotion of decentralized governance

iv) Managing federal polity

A) i) and iv) B) ii) and iv) C) iii) only

37. Given below are two statements, one labelled as Assertion (A) and other labelled

as Reason (R). Select your answer from the codes given below.
Assertion (A) : Public Servants are to be free from political bondages in making

decisions affecting public life.
Reason (R) : The Public Servants are committed for the implementation of public

policies approved by the political executive.
A) Both (A) and (R) are true and (R) is the correct explanation of (A)
B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

C) (A) is true, but (R) is false
D) (A) is false, but (R) is true

38. Which among the following is @ condition to become a national political party in India ?
i) It wins atleast two percent (2%) seats in the House of the People and these
members are elected from atleast three different States.
ii) It wins atleast five percent (5%) seats in the Council of States.
iii) It secures atleast two percent (2%) of the Chief Ministers in any States.
iv) It secures atleast six percent (6%) of the valid votes polled in the State ata
general election, either to the House of the People or to the Legislative Assembly

D) iv) only

of the State.
A)i B) i C) iii D) iv
39. Which among the following agency comes under the purview of Right to Information
Act 7

A) Directorate of Revenue Intelligence B) Assam Rifles
C) Directorate of Enforcement D) Prime Minister’s Office

40. Which among the following statement is not true about Lokpal ?
A) Lokpal consists of a Chairperson and eight Members
B) Among the members of Lokpal, 50% are from Judiciary
C) The Chairperson and the Members are appointed by Prime Minister

D) The retirement age of members is 70 years

41. 8 7 6
8 v 6
88 77
5632 | 3773 | 3132

The number missing from the table is
A) 6 B) 66 C) 105 D) 87

-10-
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@369 BT B MEfiad 300 om0 mdalmien @rdlmed™ Bidxjo @RI agymoeny ?
i) e ek eodand leiridome:

i) eaudle agyelenemalyoe eam Mdnoemayo

i) aflesfleymarw crem@ad Aaimo

IV) ©a0awom caosldl aleomiene

A) isoiv B) ii o iv C) iii @o@o D) iv aomo
6 OB5 e 63y A2 lBemsled amy Assertion (A) e Reason (R)
ag)Mio @LSs@ogeq siaTllafldlenim). dwow pemoo EIOOFITDSIBNE..
Assertion (A) : Mdo9d ellaimeed eodflw enimumeBgl@ dlamie mmmeowoeny
OI®) RMEIBOG rIOWIB6) M @ @OMNETBUD Qg)Siee0):
Reason (R) : col@ cnmodecd @oufledlesym mbeedd claeed mselid
QUEDIMD qVdLHOD HEBPWMIND ENIIWIMOD @R6N). )

A) (A) @0 (R) 90 wdlwoar, (A) @es edlwow aflucsmaos’ (R)

B) (A) @0 (R) 80 tadlawoens. aleest (A) @pes ndloo@ allicemagy (R)

C) (A) dlwoem aicsu (R) amgosm

D) (A) emgoem atess (R) vodlaosmy

6 OBISYATHALOYM aPOIOBS (HENITWMHD @EM L Wea 8w earlle rorlw
alodg] @REOIM aldelleenens® ?
i) canemedia oyl 2% migiet allewlen@Wio @ @RoMeTBUd I QlmI
MomNImemssil@d mlame @flloaeumSiennaSie]o ©-2/Q4d:.
i) esvedonflad soad eauAl® 2 poieEle e @nemy omaomo (5%) M@ ewlans.
i) eRew: aeuaEladdld 2y Rl came) mmoMmo (2%) aeussiiaoee BMS):.
iV) qvomoomengl@ ealomy dlosemmsiafld, eaos meaieaesnd dwamealeaessnd
2 meEleo ERO)@madMo (6%) mouwniow eaog MSeMo.
A) i B) ii C) il D) iv
@26 6305 AleMNMAUIT o@® o@Mmilwosm allaede:omn oo adul
@B cumyme ?
A) w@odeog 8oad oalmy soadefledbmy B) @oqoo e80adldmy
C) awwodeog edad ag)adenndmioadg D) (woma(silayes eoadloy

@26 @Mildlenym e loalam @udlalles (alpoaimeglad apmosm ndlwgpcme ?
A) 8} 621@dewISTEMio OF) 0T @OONETBRIC @OSEIBLANMIET) CLIIB M.

B) censsaeloa @vomnsmgldd 50% @o@danod mpowiullaloo@idlensme.

C) eoimdsaigmuesmuw)e @rowsmagwio all@aflenmae [alwomalnilwosm.

D) & anowadie dlswdend iowo 70 @oen.

8 7 6
8 7 6
88 T
5632 | 3773 | 3132

e esendigloel aflanm Haeiloa @oeno a@®aem ?
A) 6 B) 66 C) 105 D) 87
A%
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42. Inacertain code language, “HAND" is written as “27" and “WORK" is written as "a87",

How is “BOAT” written in that code language ?
A) 38 B) 40 C) 36 ik &

43. Rachel is mother-in-law of Phoebe. Phoebe is sister-in-law of Ross. Chandler is the
father of Joey, the only brother of Ross. How is Rachel related to Ross ? '
A) Sister B) Mother C) Wife D) Mother-in-law

44. The probability that a leap year selected at random will contain either 53 tuesdays

or 53 wednesdays is
1 2 3 4
A) = - C) = P} =
) > B) 2 ) = >
P 1 2
45. [ 3 [134] 4 |[ 3 [121] 7 || 3 7
5 5 5
The missing number is
A) 227 B) 34 C) 250 D) 222
46. The word ‘Snatch’ is associated with
A) Weightlifting B) Basketball C) Cricket D) Hockey
47. The 2018 Winter Olympics was held in
A) Canada B) South Korea  C) Italy D) Russia
48. Vimala Devi is an important character in M.T. Vasudevan Nair's novel
A) - Nalukettu B) Manju C) Kaalam D) Randamoozham

49. Bharat Gopy won the National Film Award for Best Actor in the film
A) Yavanika B) Ormakkayi C) Kodiyettam D) Chidambaram

50. The Nehru Trophy Boat Race is associated with the
A) Ashtamudi Lake B) Vellayani Lake
C) Veeranpuzha Lake D) Punnamada Lake

Which one of the following is/are requirement for remote sensing ?

i) Radiation by energy source
i) Interaction of energy with target
iii) Transmission, reception and processing
iv) Interpretation and analysis
A) i) and ii) are correct
C) i), ii) and iv) are correct

51.

B) i) and iii) are correct
D) All the above are correct

52. The scientific discipline that deals with the measurement and representation of the Earth

A) Geodesy B) Cartography
C) GIS D) Photogrammetry

2=
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80} 8D 8 e Boax@ilad “HAND” agymay 27 agmi° "WORK” ag)omai 67agmo
ag¥mo. agymil@d “BOAT” ag)mm agyessem agysimao ?

A) 38 B) 40 C) 36 D) 37
sanoenfl@yes @oaolwm e 0w, sancenll oo IR MITMLD @6, aendead
eROWWOS @0.giMio, COIMIOM BEO B} MENOBEMBITT- ag)BI@ ag) euawaoemy
owgeflmy enomilamos peam ?

A) Mea0dad B) @om C) eony D) @oanowiaepen
&} ellot dnEmid 53 6.01006wo0 53 Mwemd eSS TLIW® “6)@4‘5796"7 ?

A L B) 2 c) 3 D) 2

7 7 7 7
2 1 2
3 |134] 4 3 [121| 7 3 7
5 5 5

allg) alo® @pesno ag® ?

A) 227 B) 34 C) 250 D) 222
‘Snatch’ agyom aioss) eniqweq]gldlenam

A) ®erIBkOMo B) ensomieegesnioid C) leog D) canoesi
2018 aflgd eslnilg msmae

A) @omaw B) mvoaw esodlew C) engell D) oauy

ag)o. Sl. QIOMIERAIM MIWES emoquefleel [lwam &i0dald@madem aflaaneaall.
A) Mmoepeds B) oeo C) ®delo D) wenzdoayo
@A) edalles @Rl MY MSMes Uil aljaqpore Higlw milafla.

A) wanis B) &odamenow C) esmodlewgo D) 2flgoenimo
OMan0} ¢(S0adl AUBRo el erLaWeaSldlenme)

A) @oayas] @owe B) eaiggowend s:oo@

C) alle@ayy sowad D) aymas @owad

@06 :B:S)ET Bl MUl agmosm) Gleaag aaummilensla) @ P jo ERW® ?
i) oo eomqiled aflelosmo
i) ©vdEALo BIEHINYMOWER [ IBTlnIAIdEBMo
i) cvogiatademayo, mulleeemale alaloavqfloco
iv) alpeaipmale aflesemaye

A) i o i o wdlwoemy B) i oo iii 9o vodl@oem

C) i 9o i go iv 9o ooy D) ayeldd mmelon aggo vadiaosm
cidlwyes aeganisienalio e (alaflaloemalo aldlenym woRuIa! agmoem ?

A) glewonawmil B) ®odegowad

C) geagym D) canoagomoeas
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101/22 - M

53. Identify the pair which js correctly matched.

a) Aravalli Range ¢ Delhi to Ahmedabad
b) Narmada Valley : Rift Valley
¢) The Peninsular Plateau 1600 km
d) East Coast . Kaveri Delta
A) a and b only B) b and d only
C) conly D) a,b,candd
54. The upper air circulation or systém influence the Indian climate is
A) El Nino Effect B) La Nina Effect
C) Jet stream D) Cyclones
55. Child sex ratio in Kerala as per the 2011 census is
A) 964 B) 960 C) 943 D) 948
56. Which is a category of impact printers ?
A) Inkjet printer B) Laser Printer
C) Plotter D) Dot matrix printer

57. What is “Social Media optimizalion" 3

A) Writing clear content .
B) Creating content which easily Creates publicity via social networks

C) Creating short content which is easily indexed
D) Create content for social networks

58. FIFO scheduling is

A) Fair-share scheduling B) Non-preemptive scheduling
C) Deadline scheduling D) Preemptive scheduling
59. A device that connects networks that use different protocols
A) Switch B) Hub C) Gateway D) Proxy Server

60. Stealing any digital asset or information is listed as a cyber-crime under which
Section of the IT Act ? :

A) 65 B) 65-D C) 67 D) 70
61. Which is the correct chronological sequence of following events ?
i) Kurichya Revolt i) Attingal Revolt
iii) Treaty of Srirangapatanam iv) Martyrdom of Veluthampi
A) iii, iv, i, i B) i, iii, ii, iv C) i, iii, iv, i D) iv, ii, iii, i
62. Match List — I and List - Il.
List-1 List -1l
i) Tattvabodhini Sabha a) B.M. Malabari
i) Rehnumai Mazdayasan Sabha b) Radhakanta Dev
iii) Dharma Sabha c) Debendranath Tagore
iv) Seva Sadan d) Naoroji Furdonji
A) i—c,ii—d,iii—-b,iv-a B) i—d,ii—a,iii—b,iv—-c
C) i—c,ii—b,ii—d,iv-a D) i-b,ii—a,iii-c,iv—d
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¢.21@}0alS] G.2iRMA B:66N3ET)D:.
a) @roug] aflo@d : Wadac aymd @anamaoenid 00
b) mBaaco mogaione : dlads mavaiono
C) 9aia)at aflogydl : 1600 &), a.
d) #lvand afieo : soeaud ewdg

A) awpb @)o @O@o B) b @ d @jo mo®o

C) ¢ mo@o D) a, b, G d

EDIMIM B:08100IMOOD EIOUlEaIT HLBIM oM, Mo-JEIMO BRLOAL Moallwame agaen ?
A) ag@d aflemo (icud@mmo B) el aflmd LnJomr%cmxno

C) emg mflo D) oywell @08

2011 SXLAMIY (18000 ea:0aamlne exleslnel eflotdMiald®o ag@osm 7

A) 964 B) 960 C) 943 D) 948

MO (@ fl}d ag@ aflsonodd pweqjsymy ?

A) &6 (aNRd B) ceumlib Lmﬂf@f?:

C) eggogd D) ewog @&l (o Ncgd

MAODOW D BalFlOOnemaum® ag)Mmomd ag)amosm ?

A) QuiemaO® H88SHHO ag) OB

B) emuonuym emgaudess sl aigem eaivo (Lalore MEEM allwygs sagsene ridatiens,
C) cyafleed ddadendd agaiaimes allwo a.aidlw 9a8See0 mldad]ene

D) ecmoanym@ emgaidenedendl gaasaso aidaslee)e

FIFO eaxanydlocd agrmoad ag)omaen ? ”

A) Oanwd-00dd Haxiawylow B) amosnd-ladl agioalFlal eaxanyos

C) sawaseeaid eacuwydleD)nl agoaiglal enuaw gl

QU@ JPETBROW G0 108FICH:00D OaleIUSHNM WleHAUMEe8 eIMWlallenym aisbemo.
A) mfaf B) anent C) swng acu D) alauog) emvdad

agemssieye e WlHig@ epnilewd allairend ¢.210d@mME Hag). Sl. ERFIOP a@e
OIS T 06M HOIVENID BQBY IR0V GREU6S)ETIdleanM@ ?

A) 65 B) 65-D C) 67 D) 70
®IOY E1BHISIOT AN MVORLETBELOS EH0RIEMM (Edo AR ?
i) @idlalyelnog i) eodlemd aang
iii) @¥leowaigemo esmus] iv) ecueyommil sgai@es eemavossiapoe
A) iii, iv, i, i B) i, iii, ii, iv C) i, iii, iv, i D) iv, ii, iii, i
alSle émmjo @eNBjo G.almyoals] G.aldEe)E:.
algle — | algle — I
i) o®mesowia me a) enfl ago meleniod
i) ®0anmy@onf amizo@mm me b) weowosommo eaal
i) wdm me C) e@AGeMIM3 MOL] SIENID
iv) s mam d) mauenom andswondsd
A) i—c,ii—d,iii—b,iv-a B) i—-d, ii—a,iii—b,iv-¢
C) i—c,ii—b,iii—d,iv-a D) i-b,ii—a,iii—c,iv-d
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63. Which of the following things/events are associated with the American War of Independence ?

65.

67.

68.

69.

70.

i) Boston Tea Party
ii) Pride’s Purge
iii) Declaration of Rights and Griévances
iv) May Fourth Movement
A) Only ii) and iii) B) Only i) and iii)
C) Only i), iii) and iv) D) Only i) and ii)

In Mughal Administration, Khar € Saman became the head of

A) Revenue Administration B) Religious Matters
C) Royal Household D) Military Department

The Travancore University was formed during the reign of
A) Gouri Parvati Bhai B) Sri Mulam Thirunal
C) Chithira Thirunal Balaramavarma D) Ayilyam Thirunal

If the arithmetic progression whose common difference is non-zero, the sum of first
3 n terms is equal to the sum of next n terms. Then, find the ratio of the sum of the

first 2 n terms to the sum of next 2 n terms.
A) 5:1 B) 1:5 &) 1 B0 D) 10:1

In a school of 800 students, every student reads 5 newspapers and every newspaper

is read by 100 students. The number of newspapers is
A) 20 B) 60 C) 80

A memorial trust donates Rs.10,00,000 to a school, the interest on which is to be
used for awarding 3 scholarships to students obtaining first three positions in the
school examination every year. If the donation eamns an interest of 12 per cent perannum
and the values of the second and third scholarships are Rs. 40,000 and Rs. 25,000

respectively, find out the value of the first scholarship.
A) Rs. 55,000 B) Rs. 60,000 C) Rs. 50,000 D) Rs. 65,000

D). 40

In a city, 80% of residents have a scar on one eye, 80% on an ear, 75% on an arm,
85% on a leg and x% have a scar on all the four limbs. The minimum value of x is
A) 10 B) 15 C) 20 D) None of these

A housing society consisting of 2,750 people needs 100 L of water per person per day.
The cylindrical supply tank is 7 m high and has a diameter 10 m. For how many days will
the water in the tank last for the society ?
A) 4 days B) 3 days C) 2 days D) 1 day
-16-
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@eadLOM TP MAAYDOV TS B0 TR/ MOEUTBD 0fOMIOLOWIEY ?
i) seruogerd ) asods)
i) eepIam ade
i) UWlge0aum @oad eOFM @MW Wieammum
iV) ©aw snode ayalondd

A) i go iii momo B) igoiiimo@o  C) i, iii go IV 22@o D) igo i aomo
MWD BreMEIA 6100 0 MVAM MEIIMIWE

A) ocumy Bremo B) amalo@d® L0060

C) @om e®05000 D) eequie Qunia]

(SoUMBD Wyemlaus il muaoa lmaow® @RS 0EMEILIOT @D ?
A) 0@ asodaual ol B) wamelo Bleymodd
C) aflonflo alaymod enoeicon uda D) @o@lelo @omod

(TVOWIREM CUI®OMVO A YERIBLIOET &0} VAT cEReMIaieel @A) 3N MOALBUOS EDe®:
@8> ARSI N MIOEUIE-EOS MYECWIS MRELIMIETT. ag)@H @ EDEIOOD 2N (Vo6 IBYNS ADEIS:
ERBHYOSWo @PAIMENato HES 2N Mo HRIOHSWIe @DOB: TUBWIOSWI0 @MaIOMmo
ag)(@@oem ?

A) 5:1 B) 1:5 C) 1:10 D) 10:1

800 aflapdmde-qes e qusld eero allspdmdwie 5 al@o AElenmyens. 8oeo
ad@aye 100 aflapdmdled aolennmens. al@eBaes ag)sRo ag)® ?
A) 20 B) 60 C) 80 D) 40

80 Mo0s: (SEy Mm@l 10,00,000 oaiwes alelvn@l@ dlmmadem’ allpawesioa
addadle: aldleniad @Ey am) MOOMED) ag)@mIMM BSlH:RE6) erIadadia] MM
600 @ Udatio 12% atefltd smsyMIENE, EEBIAOHEDWIC BIMIAOEDR0 MODIMETIM
@wdao 40,000 oo 25,000 9o empogdadiaj m@eM). af)@sI@ &Moo MOIMEMES
allepdmdles) aidlenmm empogdadla] ag)@® ag)mm S:66mEEERD:.

A) Rs. 55,000 B) Rs. 60,000 C) Rs. 50,000 D) Rs. 65,000

ey munoeosies 80% @odeanddenio 8o} @efldd alnsens. 80% ap@deaodes am oaialoisn
alosyena. 75% @p@d060de6) a0y H:afelo, 85% eodenides am eoeflego, X% @RRH600d06)
aggjo moel @ealecsBglago aldsiens. X 6f agRaio SO ayeljo ag)@os ?

A) 10 B) 15 C) 20 D) semoamyag)
e} aomiier exosamglaiesl 2,750 apdancdid, acoden aq dalime 100 eligd enigso
aflme eouend] aualo. 6} H9dd ERByElald He8 Reimosraiiales e 7 digd po Mo
10 digoye oo @eem®I@ Rallen ®eaio ag)® MIGEEDEE) Henoso ?

A) 4 dlaumo B) 3 dlaumo C) 2 daumvo D) 1 dlcuavo
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g

Te:

73,

74.

o,

76.

Tl

78.

79.

80.

81.

John _ (lie) down on the bed for a short time after lunch. (Fill in the blank
using the appropriate form of the verb in the bracket)
A) lied B) lay C) laid D) none of these

“Helen is the salt of the earth” means “Helen is very
A) hard-working B) honest C) rich D) none of these

Choose another adjective derived from “pure”.
A) impure B) unpure C) purity D) none of these

John became the de facto ruler of England. (The underlined word means)
A) actual B) democratically elected

C) hereditary D) none of these

He is a man who is too ready to believe things. (Replace the underlined part without
changing the meaning)

A) is credible B) is deceitful C) is fraudulent D) none of these
Had he been inoculated, effect of the disease_________ milder on him.

A) had been B) will have been

C) would have been D) none of these

Our students/have/just had their dinner. (Identify the wrong part)

a b c
A) a B) b
C) c D) this is a correct sentence
He’s scarcely admitted his mistakes, ? (Add a suitable tag question)
A) is he B) has he C) was he D) none of these

Receptionist : “The interviews resume on Monday. Please bring a copy of your resume
today itself.” (Identify the parts of speech of the underlined words respectively)

A) noun and adjective B) noun and verb
C) adjective and noun D) none of these
The students of our school given a challenging task yesterday.

A) were B) was C) have been D) none of these
| have terrible headache now as | could not sleep last night. (Choose the
suitable article)

A) a B) an
C) the D) no article required
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Equanimity is one of the qualities desirable for a successful life. (Choose the word
which is equivalent to the word underlined)

A) courage B) calmness C) politeness D) none of these
This medicine was proscribed two years ago. (The underlined word means)

A) developed B) industrially manufactured

C) forbidden D) none Of these

Please insist the bill when you make purchases in this supermarket.
(Choose the suitable preposition)

A) with B) at C) for D) none of these
All schools (disinfect) today in preparation for tomorrow’s re-opening.
(Choose the most suitable among the following)

A) are disinfecting B) are being disinfected

C) disinfected D) none of these

Direct speech : — “Helen, when will you arrive here tomorrow ?”, John said

Indirect speech : — John asked Helen when there the next day.
(Fill in the blanks)

A) will she arrive B) she would arrive

C) would she arrive D) none of these

John was exculpated after a thorough investigation. (Select the word which is opposite
to the werd underlined)

A) acquitted B) exonerated C) vindicated D) none of these
Several old buildings were pulled to construct new ones before the
Olympics.

A) off B) away C) down D) none of these
tiger : tigress : : drake : duck : : ram : ?

A) ewe B) mare C) stag D) none of these
Select the wrongly spelt word(s) from the following :

1. equilibrium 2. sacrilegious

A) 1 only B) 2 only C) both D) neither
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91. aleigfi@o agim aldo o dl6-HFBPISMIORD swosdaeymal
2) alp + aflmo

1) ale® + alimo

3) aleimo + af@o 4) aiel + af®o
A) aggjo dl@oany B) 1 mo®o
D) 4 aomo

C) 3, 4 agricu
92. aflomay allale OBOSEH®) adlg) ag)™ alveemiogf @OAMOMISHMN@

1) efigayes avanomn@oem
2) aomawlen manmcumcgmosrﬁ
3) aflomymay m&os&mmmmmﬂﬂﬁ

4) afquye OB HOE|0 HAOPODIET
B) 2 amomo wedl

A) 1 momo d
D) emyo wodleg)

C) agygjoo adl
93. @Ry afidlowsslelo gel oaloflemdilg), eafloal ceisealao.
1) @og 2) aglelo
3) ealovlevmilg 4) afludl
A) 1 mo@o B) 2 mo@o
C) aggo wdl D) 3, 4 agorilad
94. gl MSEMIMOIN BEeABIBNBMIOR mIOY alo@MAWT eI ENMD.
1) vagoal 2) auyagoat
3) (adooal 4) ayyasioond
A) ag)gjoo vodl B) 2, 3 agrilay
C) 3, 4 agmila D) 1 oo@o

95. Tit for tat agmaiay ee:0seno0ymMm deIogenwele:td age®mgjoo ?
1) amegy 9eadl
2) ale@im) aldoo
3) @pauuorilm) ealend]
4) s0e®mIMAL)
A) 1, 2 agilad B) 3, 4 agorilcu

C) aggoo »dl D) smyo ndlwg)
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96. »ydl eI alameile (fleflonmol avonyma

1) oyadlen)
3) !y i
A) 1 oo
C) 4 momo

2) nypn)

4) npd®

B) 2, 3 agic
D) emmies

97. ®20¥ MBHl® aos)smglad ilwow agemglo ?

1) @aemaligioem eaieimoge eAIOW® Aljbmonce.

2) SOEMWROEM HalnmIRe Ald®OMoET

3) @aEMEigpE® Oalr@Ine HAIE®@IET.

4) sxaemulgoem saoeowes Sal®ymg0 QLB@OmIE.

A) agigjoo wdlwoeny

B) 2,3 ag)milcd wdl

C) 1, 4 agrilcu ol D) agigjoo @@
98. emARPEM alceE® oRO®EL0 ?
1) @l 2) Blow
3) ®3dm Jo 4) eenz)aflsyemo
A) 1, 4 agorilau B) aggloo tedlwoemy
C) 2, 3 agamia D)._agigjoo H@RoE
99. moery SB:0SEMAUN@ &Slmo ag)m alteamim afludleaodl AleoaymAal
1) egloo 2) o3
3) &de0wm0 4) ayuso
A) 1, 2 agria B) 3, 4 agymila
C) 4 ao@o D) aggjoo
100. ®s6d atop@aicagp@mE.
1) atomocuomo 2) @pdemalo
3) eyl 4) olamm
A) 1 momo B) 2 aomo
C) agygjoo D) 4 ao@o
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